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1. Write your Roll No. on the top immediately on receipt of this question paper.

2. The question paper is divided into two sections.

3. Attempt five questions in all, selecting three questions from Section A andutwo from
Section B,

4. Use of simple calculator is permitted.

5. Answers may be written either in English or in 1lindi; but the same medium should be

used throughout the paper.
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Part —4

1) a) Unit labour requirement and wages for Spain and United Kingdom are described in the
table below:

#I oot ;_ﬁfage . Unit labour Requirement (in hr.) 9
| * | Rate Wine Cutlery | Cloth | Hardware | Wheat Chq§§¢___j
{Spain ___ | €2/hr 4 12 6 115 5 7 _‘_:
{ United | ., ! ,., |
;_F}_lggdom £3.2/hr J 3 i 4 5 6 2.8 .,; !

() If the exchange rate is £0.8/€1, find out the pattern of specialisation for both the countries.
4)

i) Show the determination of the relative wages with a diagram using relative quantity of

labour and the relative wage rate as the variables for respective axis, 4)

iii) If the wage rate of United Kingdom increases to £4.2/hr, given the same exchange rate as
before, how does the pattern of specialisation change for both the countries? )

b) Write a short note on *Gravity Model’. ©)

J.a)ﬁaaﬁta@gagﬁw@wﬁmmémﬁrmmmwma
75 aifaer & aftta &

" }WT{ $HE T HT IR (s2t )
| _'W_inc | Cutlery | Cloth Hardware |Wheat Cheese
Raul €2hr |4 12 IG 15 5 7
(gemeez -
| = C£32/Mr |3 4 CL@\ 6 2.8 3
heem | SN "

®
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F&F AT Asigd & AUROT Fr g

3R s Teen SR X £42 910 6 7% a8 o .2 & g e
RfFaT a7 g gut & v Rdvad & w@ew & e ver oieds g b
b) ALY Alzer w3 T Hieyea feyuolr ford|

2. a) Consider country A that produces computers (C) and food (F) using capital (K) and
Tinhi .n;-r (L). Both industries are perfectly competitive. Unit factor requirements are fixed and

@
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non substitutable. The technique of the production is given by: agc =3 and axyr =
1; a,c =2and a;p = 4.

a;; is the number of units of factor i required to produce a unit of good J.
i) Which industry is capital intensive? Suppose that it has an aggregate endowment of 100
units of capital and 100 workers. How many computers and units of food will the economy

produce? Explain with diagram.

i1) Given the same technique of production for both the goods, country B now opens up for
free trade with country A when country B possesses the aggregate endowment of 100 units of
capital and 150 workers. Explain the direction of trade between country A and country B.

(6+4)

b) Export led growth in poorer nations would actually be self-defeating -~------ Comment. (5)

2.a) U W S A Yol (K) g A (L) 1 9A9T & HoYE(C) TUT Hsi (F)
FT ICUEA FIET 1 AT Ieer quia: gl &) s sy i siavawar R
T AR gfAEre T ¥ | Seares @ aEAE 59 gEIR & T B

by:ake =3 and ayr = 1; ayc =2and ayr = 4.

a;; TG j BT FHS 3G F AT | WA Fr SHE s D AT E

x)aﬁﬂmmmm%ﬂﬂmm%mwmaﬁrWOWW
mﬁhﬂ-uﬁrmommmmammﬁmmW
ITATGET YT ? W & I FHFU|

i) arAT awgat & AT seaea fr @A W HAS TC, A B Ay A F T
WWWWWWWT§§ QAE"FH 9Ty oGS A 100 THE T
T v 150 zaE ¥ 2=y A &B*ﬂwﬁﬁmnfrmah
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3) a) 1) Suppose a country wantb to proteet its ‘Infant Industries’ through trade protection
measurements. LEvaluate import tariff and import quota for the same level of imports as

nrotection measurement. (8)
1) An i :sting suggestion ®@me Shrough in the pnn ss of evaluation: “Instead of protecting
Arles from roreign compelition. a4 couniry should iy cncouray L WICIr praauceton of

lnport competing goods through production subsidy™. Do you agree with the suggestion?

Uhe (3)
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b) Write a short note on “Intertemporal Trade’. )
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b) STEFUARS AR 9y Hitieg fRguofr )

4) a) Bangladesh produces shoes at a lower cost as compared to the world market leader,
Cambodia in shoe production. Despite being the low-cost producer, Bangladesh is unable 3o
compete in the international shoe market when free trade takes place. In fact, Bangladesh
does not even gain from foreign trade. Explain the above anomaly of the trade pattern with

the help of forward falling supply curve. (7)

) Suppose, monopolistically competitive firms, facing same demand curve fdr zheir produet,
having different fixed levels of marginal costs, have the same but nbpfréeovérable fixed
costs. Establish the relationship between the marginal cost and operatitg profit. Show how

does increased market size generates both winners and looser amon@\firmts in the industry.
(3+5=8)

-
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b) AT ehfory, TR Sfowgel, B, 9ed 3eoe & R o & A aw §
faff=r feax diFid oPTd .0 6, GAE Uied g9 arell R eerd ¥ deia
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Tady 3ezier & R{ASar aur aufad aal ghR f $H Icue Far ol

\ country produces two crops Barley and Maize which are produced by labourers and
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the price of barley (Pp) and maize(F,,), the relationship of labour allocation is shown
MPL,P, = MPLy, P, where MPLy and MPLy,are marginal products of labour for the two
crops. Uf Maize’s price increases by 5% with no change in Barley’s prices, what will happer
(o the labour demand for Maize production, and the market wage rate? What will be the

welfare status of labourers? Explain with logic. (7)

b) “Desirability of Custom Union depends on whether it mainly leads to trade creation or

trade diversions™ ---------- Comment.

5. a) U Y & BHEAT S JUT HIHET H 3edled AT § oA TR AHST T4 50
wwa wRE o & @t Wk mew & FEftd sees & fov Rftee 2 oz
eaTied & E1 St ((Pb) T HeFET (Pm) H & g% FCAl W AF HiGeH F HAY
MPLyP, = MPL,,P, & &I & fg@mar arm g1 MPL, aur MPL. &7 ®8al & #H &
WA 3eare €1 IR A f frAd A 5% H e quwr A H FEa 3uREH
8. @ FEH 3eues % U s | w2 @Rl aUr SR F A9el & HOR
g At dr wearor Rufy Far eel aF & g aEzEd|

b) FFCH FY HT FAGAIA I AT | AR A § & @ G §9F FOR
fF#ET O SR A, FEd WK o J@ar g ——-—- el &Y

Part- B

6. a) Assume that an economy is currently at Lull - employment.” The government of the

economy has undertaken an expansionary %? poligy of a%peérmanent nature. Explain the
same with the help of a DD-AA diagram bringitig oyt the rationale behind the impact
of this expansionary fiscal policy on put and excHange rate in the perfectly flexible

exchange rate and perfectly mobile | cnvirohment.

N
b) The Japanese yen (¥) give¥ 20%_ififerdp rate against 10% interest rate of dollar
deposits and the expected rate of dgmgcion of the yen is 10%. What will happen to the S in
the foreign exchange market? By What rate yen deposit need to depreciate to bring in the
equilibrium in the foreign exchange market? (6)

boa) AT A BF UF NUemETUT A H OISR F FA W OE| WET S
rdeaeryr # vF EUE YR A R Al R @ §l DD-AA IRE H
riraror & Fada 3w fAeafa o Af H1 F TR W g are asrE
F @t B Fgse FY |

(9

(5
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) AT AA(Y) 20% T T &A § FMF SR (S) FA 10% =T &, T A
& saAead @1 AT 2T 10% F1 RSN Hqpr aeR F SR @ wmr g men
w77 TSR A e # o & A0 AT 57 B @ & sraesms ger ok o
7. a) Show that with imperfect asset substitutability, the central bank can use sterilized

intervention to hold the exchange rate fixed as it carries out the expansionary monetary policv
{0 achieve domestic objectives such as full employment. (8)

h) How was inflation got imported from abroad (US) to other countries under the Breton
Wood fixed exchange rate system which was characterized by lopsided macroeconomic

-

power vested on United States? (7)

7.a) G & Hqut aReufy ufarua & @y, FET §F ffaag 3 & 2w @
& fov fswer gEaRly & 9TRT IR EaT § FAIE TE 9O IR SR I
352t & 9T A & fov {Eafa #ifgs A &1 @ swar g

b) deT g8 R Rfewy @@ &, Swd Rivar g7 o7 @R = -ARa
AT IS AfFd B, & e it F FEehfy Ry (quEpd e
#r a5 4

8. a) The severity and breadth of the 2007-09 crisis have led $\Ritidtives to reform both

national financial systems and the international system. Desesibe some of these measures,
which have sought 1o fill gaps in existing r@atory frameworks while also paying more

attention to the macroeconomic causes and g{\ quen€es of banking problems. (7
b) What is financial trilemma? (b@ &}
¢) How does market determined e @ge rate-acts as an automatic stabilizer? (5

5. @) 2007-00 & W BONMRAT WA RETR A TG g gonR oy
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